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Deriving given answer
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[=2.96059... — 2.92078...]
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[Altow S(100) — S(50), (= 0.0383) for M1}
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[M1 for diff. product, Al both correct]
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Given resuli: %4—% - x? cS0

(b) CF: v=Asin3x+ Bcos3x (may just write it down)
Appropriate form forP1: v=A+x (or & +bx+¢)
Complete method to find 4 and »

v = Asin3x + Bcos3x + —;—:cz -2

[ £t only on wrong CF ]

(¢).. y= Axsin3x+ Bxcos3x + -—x3—§21-

[ft. for y =x(candidate’s CF+ PI), providing two arbitary constants]
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{a) For C: Using polar/ cartesian relationships to form Cartesian equation
so x*+3°=6x
[Equation in any form: e.g. (x —3) + 3® =9 from skeich.

or x*+3°

“Circle” , symmetric in initial line
passing through pole
Straight line

Both passing through (6, 0)

{c) Polars: Meet where Gcosﬁcos(-;;-ﬁ)-—-ﬁl

V3sinfcosb = sin* @
sin@ =0 or tand =4/3 [6=0 or %]

Points are (6, 0) and (3, __l’;)
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